KapeTtkun npodunbHbix penbcoB HSAC cepun GRW

Nl
W G L
(3 c& B1 IS L4 53
q b R 1 - o0 L _
R+ el o [in AN [
O @ Ao T PEET T | ST - | | et
éﬁ | [\ b g V4 F =0 ] Y=
q ) ! i | Lsda ;,:T:.;

Y Cy My
C Mg Me 27/

Lo T —

= S =G O

i ®

mHa | Cratm
H HI| N |W|B|[B1]| C|Ct L1 L K1 K> G M T Tt ([H2| H3 | Wr | HR | D | h | d P E MM ‘uM q Mg Mp My
GRWISCC | 24 | 4 16 47 | 38 | 45| 30 | 26 45 68 1,4 47 5,3 M5 6 | 69536 ]| 61 15 (165 |75|57]|45]| 30 20 M4x16 1,3 24 0311 | 0173 | 0,173
GRW20CC 57,5 86 13,8 213 46,7 0,647 | 0,46 0,46
30 5 215 | 63 | 53 5 40 | 35 6 5,3 M6 8 10 43 43 20 21 95 | 8,5 6 30 20 M5x20
GRW20HC 77,5 106 23,8 26,9 63 0,872 | 0,837 | 0,837
GRW25CC 64,5 979 | 15,75 27.7 57,1 0,758 | 0,605 | 0,605
36 | 5523570 | 57|65 45 | 40 725 | 12 M8 [95]| 10 |62 6 23 [ 236 | M 9 7 30 20 M6x20
GRW25HC 81 144 24 33,9 73,4 0,975 | 0,991 | 0,991
GRW30CC 71 109,8 17,5 39,1 82,1 1,445 1,06 1,06
42 | 6 31 90 | 72| 9 | 52 | 44 8 12 MIO |95 10 [65] 73 28 28 | 14 | 12 | 9 40 20 M8x25
GRW30HC 93 131,8 28,5 481 105 1,846 | 1,712 1,712
GRW35CC 79 124 16,5 57,9 105,2 217 1,44 1,44
48 | 65| 33 [100] 82| 9 | 62| 52 10 12 M10 | 12 13 9 | 126 | 34 |302|14 |12 ] 9 40 20 M8x25
GRW35HC 106,5 | 1515 | 30,25 73,1 142 293 2.6 2.6
GRW45CC 106 153,2 21 92,6 178,8 452 3,05 3,05
60 | 8 | 375 (120]100| 10 | 80 | 60 10 | 129 [ M12 | 14 15 10 14 45 38 [ 20| 17 | 14 [ 525|225 M12x35
GRW45HC 139,8 187 37,9 116 230,9 6,33 5,47 5,47
GRW55CC 1255 | 183,7 | 27,75 130,5 252 8,01 5,4 5,4
70 | 10 | 435 (140|116 | 12 | 95 | 70 125 | 129 [ M4 | 16 17 12 | 175 | 53 44 [ 23120 16 | 60 30 M14x45
GRW55HC 173,8 232 51,9 167.,8 348 115 | 10,25 | 10,25
GRW65CC 160 232 40,8 213 411,6 16,20 11,59 11,59
90 | 12 | 535|170 | 142 | 14 | 110 | 82 158 | 129 [ M6 [ 22| 23 | 15 15 63 53 [ 26| 22118 | 75 35 M16x50
GRW65HC 223 295 72,3 2753 5727 | 22,55 | 2217 | 2217




